Assembly Instructions
: Queen Bed Frame

Instructl_ons de montage - 0 sk

Instrucciones de armado

Thank you for choosing us.

-If you have received a damaged or defective part

-If you are missing hardware or parts

-For help with assembly

Replacement parts will leave our facility within two business days
via UPS Ground or FEDEX Ground.

Please note: shipping times will vary depending on location.
Before you call please:

1) Record the following information from the shipping label
on the outside of the box. You will need it for warranty purposes:
. Ship To Name

. Sales Order Number

2) Note the product model number.

3) Review the contents of your shipment to determine

what you are missing.

CONTACT US FIRST PLEASE!



(1)—Headboard Parts

(2)—Left Wing Check
(3)—Right Wing o [
(4)—Headboard Bar S 1st

(5)—Side Board
(6)—Side Board
(7)—Side Middle Legs
(8)—Left Connector(front)
(9)—Right Connector(front)
10— Rear Connector

41 Rear Board

12 Rear Legs

43— Supporting Wood
44—Middle Beam(front)
45—Middle Beam(rear)
16—Middle Legs
47—Middle Bar

18— Slats Bundle

Part List-1
4 1-18
is for bed frame

X2

>



M8*25 M8*35 M8*45 M8*50

18 24 8 28 1
X ‘A X ‘B § C § D g E
/' / \““‘
(0 5 SANGY
22 2 4 Hex Wrench Screw
X F X G X H Key Driver

g @ & ~

x14 x8 x8

V] L] ™

A Part(D (DKL M are come with the inner box of nightstand.

A Hareware List Part List-2

Lol by ] v 1-12

0 5 10 15 20 25 30 35 40 45 50 . .
is for nightstand

Screw Size Table

1 1 1
X @ X G X @

x1

@ x1 @ x1 @

X2

6.5 ft cord USB
Sockets Adaptor

—

.

X2

Y




A x4




B x16

Repeat this step
for another side.

A x4

1

(















Attach the slats

on the supporting
bars and adjust

the position evenly.

14

Congratulates!

The bed frame is

assembled. Let's get

started to the floating

nightstands.




Before starting assembling
the drawer, please parted
slide rails to 41 and 12

Toggle the pin and then
pull out the inlay rail. ‘




A1\ £
v’ X

/I\ Make sure the twister dowel is fully screwed.







| x4

EllI=







- TIPS: The floating nightstand will sit on w

 the side board and help with mounting. j

X0

(HMMDDX6




slowly to the groove
of sideboards.






TIPS: Pull out both inlay rails will help
aligning and inserting the drawer easier.




V USB Input : 100-240V-50/60Hz, 0.3A Max
USB Out : 5V-2100mA Max

"/ How does the socket work?

E +

o
"1 Type G port LED 3000K

j’ USB port
j‘ Short Touch: LED On - 3 level dimming- LED Off
Long Touch: LED dimming

Socket on/off has memory function, it will light up
as the same dimming before it turn off.

DO NOT let children climb on this nightstand.
DO NOT exceed the maximum weight loads shown.
This could cause sagging, product collapse and/or serious injury.

Ne laissez pas les enfants de grimper sur ce table de chevet.
Ne pas dépasser le poids maximum des charges indiquées.

Cela pourrait provoquer un affaissement, effondrement du produit
WARNING! et/ou des blessures graves.

ATTENTION! _ o .
' No deje que los nifios subirse a este Mesa de noche.
ADVERTENCIA! No exceder el peso maximo de las cargas indicadas.
Esto podria causar flacidez, colapso del producto y/o lesiones graves.




	1
	图纸和视图
	模型


	2
	图纸和视图
	模型


	3
	图纸和视图
	模型


	4
	图纸和视图
	模型


	5
	图纸和视图
	模型


	6
	图纸和视图
	模型


	7
	图纸和视图
	模型


	8
	图纸和视图
	模型


	9
	图纸和视图
	模型


	10
	图纸和视图
	模型


	11
	图纸和视图
	模型


	12
	图纸和视图
	模型


	13
	图纸和视图
	模型


	14
	图纸和视图
	模型


	15
	图纸和视图
	模型


	16
	图纸和视图
	模型


	17
	图纸和视图
	模型


	18
	图纸和视图
	模型


	19
	图纸和视图
	模型


	20
	图纸和视图
	模型


	11B.pdf
	图纸和视图
	模型


	11B.pdf
	图纸和视图
	模型





